A

SN SAXRD
M AYNSTBARYD(STHL /59 - 5&)
Sol: SIS L ASOHH EERECE]
_ _ HE T
A -3 -H2A(SH) - HEAMY - BES O AF K 'oﬂ/'\_WH Hlws2
SAXI D 64,073,636 61,393,235 2,680,401
= 27,813,938
2 21,127,000
p 1,600,000
< 13,532,698
AYRSAMY D (SLHY LM /5 - 5E) 35,349,879 35,728,236 378,357
= 24,353,938
2 2,500,000
p 1,600,000
= 6,895,941
S| HE L ASOHN 8,519,590 11,781,604 ~3,262,014
= 7,602,615
= 916,975
SI12 LA (D) 1,200,000 3,420,000 A2,220,000
= 1,000,000
= 200,000
403 KX SHSIHE0IH 1,200,000 3,420,000 ~2,220,000
= 1,000,000
= 200,000
01 RXSHR=LE 1,200,000 3,420,000 A2,220,000
OSIIHLTHAN (2942 ) 1,200,000
= 1,000,000
= 200,000
ZAZXNANEMAIL (2 D) 7,170,590 8,045,854 875,264
= 6,602,615
= 567,975
201 Ypre | 3,500 5,500 A2,000
= 2,450
= 1,050
01 AtR2teld| 1,500 1,500 0
OFASLINEH A3 1,500
= 1,050
< 450
03 A2 2,000 4,000 A2,000
OZXASRIHEM A &3 2,000
= 1,400
= 600
202 01| 5,000 5,000 0
= 3,500
< 1,500
01 2048l 5,000 5,000 0
OFASZRIXNANEHZ 5,000
= 3,500
= 1,500
308 XiXIEHH SOIH 7,162,090 8,031,354 869,264
= 6,59, 665




SN

= APRI 21Dt
Mo ASRSAMAYD(SEHLSM/5Y - SE)
Sol SIIHE L ASOHE (ee: &
_ _ _ Muo
SN EB -GS - MBAY - BES 0 & 24 e HRE2
< 565,425
01 IXCSHBLEES 7,162,090 8,031,354 869,264
OXAS2IX = 22 X3 (18,827ha) 7,040,163
=2 6,484,363
= 555,800
OXAENAEH () 121,927
=2 112,302
= 9,625
= EEIES 15,000 22,500 A7,500
403 XHXIGHH S XH2 0 H 5,000 22,500 A7,500
01 XIXISHAZ X 15,000 22,500 A7,500
OH = K22l 44 8 (1000H) 15,000
JIHBS 134,000 293,250 A 159,250
202 01| 11,000 10,000 1,000
01 =UHOiI 11,000 10,000 1,000
SIS LASOHYEX 11,000
403 RXISHSKHZO0IH 123,000 283,250 160,250
01 MXCSHMIEEE 123,000 283,250 £160,250
0A8SIIH B3 X 33,000
O 2171 (600H) 18,000
O4424 3 2 X J1 (400H) 15,000
OsJHERED &1 N 90,000
AR MAD|E X4 4,466,700 1,041,400 3,425,300
=2 50,000
p 1,600,000
= 2,816,700
DEDM M 1,209,500 416,600 792,900
202 O1H| 7,000 6,600 400
01 201 7,000 6,600 400
OAYNSMAI|BIES S 7,000
308 AHXIEHHISOIH 75,000 75,000 0
01 HXSHBAEES 75,000 75,000 0
ODSBHM MACK X4 (500ha) 75,000
403 HXISHHSXHR O H 1,127,500 335,000 792,500
01 MXSHIEEE 1,127,500 335,000 792,500
OB SRAI& X2 112,500
Ob S22 (2H2) 36,000
OH 2X2E 522 (85S) 76,500
OVTeIM B2AXI| B2 (100H) 15,000
ORN2 HE U ASHH AL 1,000,000
FIAS 2ae 2™ JD 372,200 142,200 230,000




SN
X XH .
S Tt

el

_ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH '@,‘;OH Hos
202 O4Hl 5,000 0 5,000
01 ZLHOIHI 5,000 0 5,000
OFTAISZ A S 3 MSHFN 5,000
308 XIXISHHISOIN 100,200 100,200 0
01 MXSHHBAEES 100,200 100,200 0
O3 2K HLTHEN X1 (1,000na) 70,200
O&=44 HE3H(200ha) 30,000
402 QI+ X 0| A 252,000 0 252,000
01 RIZtNH=EEE 252,000 0 252,000
OLJLTNASHHAEX 252,000
403 XHXISHHIS XH=2 0l & 15,000 42,000 A27,000
01 UHXSHH=2EE 15,000 42,000 27,000
OEZEZT MMUKRISIIA(2MA) 15,000
DHXAX HESAY F=X(2D) 2,800,000 0 2,800,000
pJ 1,600,000
= 1,200,000
402 BI2EXH2 O A 2,800,000 0 2,800,000
pJ 1,600,000
= 1,200,000
01 BIZIH=EE X 2,800,000 0 2,800,000
ONAHX A BE3AS 2,800,000
Il 1,600,000
[ 1,200,000
DEAN ANALN S4(21) 58,000 174,000 A 116,000
= 50,000
[ 8,000
403 XSRS =0l ™ 58,000 174,000 A 116,000
= 50,000
= 8,000
01 MXESHMA=2EER 58,000 174,000 2 116,000
OLNZEH FFHIIHM 4 58,000
= 50,000
[ 8,000
sSAMH= P 27,000 0 27,000
308 XXISHHISOIN 27,000 0 27,000
01 AXSHBAEEZ 27,000 0 27,000
OsX2MHZE X 27,000
g#E=sg =4 22,363,589 22,905,232 A541,643
= 16,701,323
o 2,500,000
= 3,162,266
SIEHIZ2 XY (=2D) 11,958,240 12,346,400 388,160




SN S D
HE: AZRSIYAND(STHYEL/5S
ool AEASY 4 (ol &2
_ _ HE T
SN -EHH . (B) - MPAY - BE2 Ofl AF o4 Sl ko HRE2
= 10,677,000
= 1,281,240
308 NXISHHSOIH 11,958,240 12,346,400 A 388,160
= 10,677,000
& 1,281,240
01 XM EXS 11,958,240 12,346,400 A 388,160
ORJIZHE322(213.58 &) 11,958,240
= 10,677,000
= 1,281,240
ELMEH EX2AMH(S1) 5,169,421 4,567,061 602, 360
= 4,580,500
= 588,921
308 MXISHHSOIH 5,169,421 4,567,061 602, 360
= 4,580,500
& 588,921
01 XM EXS 5,169,421 4,567,061 602, 360
OELMS MK A (9% E) 5,169,421
= 4,580,500
= 588,921
=LA 2T LM (2) 450,000 2,254,200 A 1,804,200
= 300,000
= 150,000
403 XXM SA201H 450,000 2,254,200 A 1,804,200
= 300,000
& 150,000
01 AXESMIA2E = 450,000 2,254,200 A 1,804,200
OHBBSATTES (3N L) 450,000
2 300,000
= 150,000
FAREE =P (F) 2,728,000 0 2,728,000
= 2,200,000
= 528,000
403 XXM SA201H 2,728,000 0 2,728,000
= 2,200,000
& 528,000
01 AXESMIA2E = 2,728,000 0 2,728,000
CEELEEETSOESE 2,728,000
z 2,200,000
= 528,000
HEd st RSEd3 166,000 135,800 30,200
202 O4Hl 15,000 7,800 7,200
01 2UhoiH| 15,000 7,800 7,200
OABASANY T 15,000
308 XX HHSO0IA 49,000 30,000 19,000




FA: s8X
Al 2t Xl

A AYRSAYLND(SLHL /5 - 5E)
ool A=Y 84 (25l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 Hws2
01 MXSHHZHBES 49,000 30,000 19,000
ONEF ASsNE THN 21,000
O mBA A HOM SX SXA X
2 20,000
O+THSADIA LEXNTH(H) & - s2E
243l 8,000
403 RIS HSK=0IH 102,000 98,000 4,000
01 MXSHAZ2E 102,000 98,000 4,000
OEFSHE BSERUH(1I12) 50,000
OREFSHE BERIXALZHI (2N L) 32,000
osmZA AEYM 25 FH N 20,000
AEYsY AL HE 108,000 106,500 1,500
403 XX GRS XH= 0/ 108,000 106,500 1,500
01 RXISHK=EE 108,000 106,500 1,500
OXBASY NHSAH AT (200H2) 90,000
ORSASHS HAZMAMAIL KR (3MHL) 18,000
Med sIINN 22 0,000 66,000 56,000
308 XHXIEHHI SOl H 0,000 66,000 56,000
01 MXSHHZHSES 10,000 66,000 56,000
OFEHE S 22 (1400a) 10,000
A= =X 41,340 51,500 £10,160
307 QI2H0|H 15,000 20,000 A5,000
04 SIABARE 15,000 20,000 25,000
OREFSHE U 15,000
308 XHXIEHH SOl H 26,340 31,500 A5, 160
01 MHXSHBAHBES 26,340 31,500 A5, 160
ORSFSLHS ASSZH(60021) 22,500
ORSFMASAL HRIE H2HI 3,840
=HIXE ERUXA(2D) 1,732,568 1,365,771 366,817
= 1,443,823
= 288, 765
308 XiXIEHHI SOl & 1,732,568 1,365,771 366,817
= 1,443,823
= 283, 765
01 MHXSHHZAHSES 1,732,568 1,365,771 366,817
©=HI =S ZXCHXI & (10,084ha) 1,732,568
=2 1,443,823
= 283,765
SUMA|Y T (SYHLSM /5 - 55) 23,368,000 23,921,628 ~553,628
= 3,460,000
= 18,627,000




S SAXRD
B SAMMIIY EH(SEHLL/SY - SE)
ol OIEX S4BT =Y (el &
SN (B) - MBEAY - B2 0l aF ol Soe HRZ2
= 1,281,000
O A Z24ZSZ2XH =8 8,123,000 7,512,000 611,000
= 3,460,000
= 4,163,000
= 500,000
=& AN (2 10) 2,000,000 2,700,000 700,000
= 2,000,000
402 BIZHXFE20|M 2,000,000 2,700,000 700,000
= 2,000,000
01 QI2tXIE2E X 2,000,000 2,700,000 700,000
Ol Z=JH & AF (2J0H XI ) 2,000,000
= 2,000,000
SSTHoH GIAIE (21) 1,460,000 0 1,460,000
= 1,460,000
403 XX SHHSA=201H 1,460,000 0 1,460,000
= 1,460,000
01 RXSHMA2E xR 1,460,000 0 1,460,000
Oste i1 1,460,000
= 1,460,000
SHMAL J|BIEH| (& OHE) 834,000 300,000 534,000
& 834,000
403 XMXISHMS 20| 834,000 300,000 534,000
= 834,000
01 AXIEHMA2EE 834,000 300,000 534,000
OARBSESLML(1HXIF) 834,000
= 834,000
SHMA JIBHAEH| FR(SAIER) 700,000 500,000 200,000
= 700,000
403 XX SHHSKA=201H 700,000 0 700,000
& 700,000
01 MHXSHX2EX 700,000 0 700,000
OXNES=EBLML AL (1HXIF) 700,000
& 700,000
SHAMA J|BHAEH| =&I(SHotS) 1,000,000 1,000,000 0
= 1,000,000
403 XX SHHSA=201H 1,000,000 0 1,000,000
= 1,000,000
01 AIXSHHMAZ2E X 1,000,000 0 1,000,000
OXNELZ2LIHLALS (1M K F) 1,000,000
= 1,000,000
SEsY MEELIIL(SAER) 1,214,000 1,085,000 129,000
& 1,214,000
403 XMXISHMHS 20| 1,214,000 1,085,000 129,000




SN ST
B SMAD|E KA (SHHSL/EY - 5E)
ol OIEX S4BT =Y (el &
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
& 1,214,000
01 MHXSHX2EX 1,214,000 1,085,000 129,000
O=sZEsY - MESHIHL(8IHA) 1,214,000
2 1,214,000
sEsY MESHINE (o) 415,000 354,000 61,000
= 415,000
403 XX SHHSA=201H 415,000 354,000 61,000
= 415,000
01 AIXSHHMA2ER 415,000 354,000 61,000
OsYsE - M4 (20H2) 415,000
= 415,000
=ClAIE JHE = 500,000 610,000 110,000
403 XMXISHHESK=20H 500,000 610,000 110,000
01 AXEHMA2EE 500,000 610,000 A 110,000
O=clAlE == 500,000
SSHMAD|EE AH| 15,245,000 16,409,628 A 1,164,628
= 14,464,000
== 781,000
SgMA JIBHEHI XA (=21D) 11,231,000 11,674,628 AN443,628
& 10,450,000
= 781,000
202 044l 20,000 20,000 0
01 2| 20,000 20,000 0
SHMAD|BIEHIAIY HRFA 20,000
403 XXISHMS K20l H 11,211,000 11,654,628 N443,628
= 10,450,000
== 761,000
01 AIXSHHMAZ2E R 11,211,000 11,654,628 N443,628
OB X AEIAF (20 Xl 7*/130ha) 2,513,000
= 2,337,000
= 176,000
O )| BtEH| ALY (10I0 XI 2 /667ha) 8,698,000
& 8,113,000
== 585,000
JHSBHZSHLI(SAER) 1,432,000 1,581,000 A 149,000
= 1,432,000
403 XX SHHSK=201H 1,432,000 1,581,000 149,000
& 1,432,000
01 RIXISHMAZ2E xR 1,432,000 1,581,000 149,000
OJ| HistH =2 & I & (1500 A /22km) 1,432,000
& 1,432,000
JHS B X2 SR (SO 2,582,000 3,154,000 A572,000
= 2,582,000
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